m/s

1.0 2.0 30 40 50 6.0

4.0-3.0-2.0-1.0 0.0

-5.0—

-6.0

21.5

20.0

—=71.5

-72.0

—7/2.5

-73.0

-73.5



Z(km)
[N
(6]
T

0.5

0.0f_ . .

Z(km)
[EnY
[6)]
T

o
o1
R

uw

2f —— total ;

-1.0 -0.5

0.0 0.5 1.0
mflux

-0.10 -0.05

0.00 0.05 0.10
heat flux

295 300 305 310 315 320

—— qc

0.00 0.02 0.04

006 008 010 0.2
Q x 1000

Z(km)

Z(km)

Z(km)

1.0

3.0f
25F

20F

1.0F

0.5

0.0k

3.0F

25F

15F
1.0F

0.5

0.0t

T T T : T ]

| ]

wq 3

| ]

! E

1 ]

C I ]

- [ E

N | y

. . 1 . n
-0.2 -0.1 0.0 0.1 0.2

vapor flux*1000

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

 Rad
|_tang

O = = = -

20 40
Wind m/s

-20



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—




3.0f
25F

2.0F

Z(km)
-
o1
T

1.0F

0.5

0.0t

0.0
heat flux

3.0F

25F

1.5F

Z(km)

1.0F

0.5

0.0t

295

320

qg

qc

0.00 0.05

0.10
Q x 1000

0.15

0.20

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-2 -1 0 1 2
rot flux

-15 -10 -05 0.0 0.5 1.0 15

vapor flux*1000

25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-1.0

3.0f

1.0f

0.5

0.0t
-0.10

3.0F

1.0f

0.5

0.0t
295

2.5F
2.0F

1.5F

Z(km)

2.5}
2.0F

1.5F

Z(km)

—qr

qg
qc

Z(km)

-1.0

3.0F

1.0f

0.5

0.0k

3.0F

1.0f

0.5

0.0t

3.0f

1.0F

0.5

0.0t

fluxra
fluxt

-0.5 0.0 0.5
rot flux

2.5}
2.0F

1.5F

-0.3 -02 -01 0.0 0.1 0.2

vapor flux*1000

2.5}
2.0F

1.5F

2.5F
2.0F

1.5F

-20 20 40

Wind m/s




g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0F

Z(km)
-
o1
T

0.5
0.0k

3.0F

Z(km)
-
o1
T

o
o1
T

-15

-0.10

-0.05 0.00 0.05 0.10
heat flux

ot

300 305 310 315

320

0.1 0.2 0.3 0.4
Q x 1000

0.5

Z(km)

Z(km)

Z(km)

0.0
rot flux

0.5

15

3.0F
25F

20F

1.0F

0.5

0.0t

wqv

0.0

vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

-20

O = = == — -

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

2f —— total ;

-03 02 -01 00 01 0f2 0f3
heat flux

3.0F - - - ]
25F -
2.05— -
150 E
Lof -
0.5F E
0.0t . . .

295 300 305 310 315 320

0.0 0.2 0.4 0.6 0.8 1.0 1.2
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

wqv

-0.4 -0.2 0.0

vapor flux*1000

25

Wind m/s

20 40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-1.0 -0.5 0.0 0.5 1.0
heat flux

250 :
20F =
150 E
Lof :
050 =
0.0t . .

295 300 305 310 315 320

0.0 0.2 0.4 0.6 0.8 1.0 1.2
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

wqv

-0.5

0.0

vapor flux*1000

25

-20

O = = = -

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

15

0.0t

3.0

2.5

2.0

1.5

1.0

1.0f

0.5F

-0.15 -0.10 -0.05

heat flux

0.00 O.

05

0.10

0.15

320

0.2

0.4

0.6
Q x 1000

0.8

1.0

1.2

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

: wav :
C I ]
C I ]
- I E
C | ]
- | E
N | y
. 1 .
-0.2 0.0 0.2
vapor flux*1000

25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

0.0 0.2
heat flux

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

320

0.2

0.4 0.6
Q x 1000

0.8

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.4 -0.2 0.0 0.2 0.4

vapor flux*1000

25

Rad
tang

|

|

1
-20 0 20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3 2F =
£ E I 3
3 S :
N N N 1
3 1F .

O:

1.0 -1.0 1.0

30:| T T

Z(km)
|
Z(km)
[N
(6]

T

[

|

|

|

] - '

1 . ] 0.0 . . 1

-0.06 -0.04 -0.02 0.00 0.02 0.04 0.06 -0.3 -0.2 -0.1 0.0 0.1 0.2 0.3
heat flux vapor flux*1000

25F

15F .

|
Z(km)

1.5F

Z(km)

1.0F

o
o1
T

295 300 305 310 315 320 0 5 10 15 20 25
theta Q

T T 30 F T T T ]
2.5F .
3 2.0F .
£ 1sf .
N r ]
3 1.0F .
05F .
. ] 0.0t . .

0.3 0.4 0.5 -20 20 40

Q x 1000 Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0f
2.5F

20F

1.0F

0.5

0.0t

Z(km)

0.0
heat flux

3.0F

25F

1.5F

1.0F

0.5

0.0t

Z(km)

295

qs
qg
qr
qc

Z(km)

0.00

0.10
Q x 1000

-0.5 0.0 0.5
rot flux

3.0f
2.5F

20F

1.0=—/———

0.5

0.0k

wqv

-0.1 0.0 0.1
vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

-20 0 20 40
Wind m/s




g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

21 2k 7
C € b
C < [ b
N N T ]

1F 1F ]

O: O: 1

3.0F
2.5F

2.0F

3 25F wq 3

3 2.0F 3

. § 1.5F .
N

|

|

- 1 - !
0.0k ! ! ! ! 1 0.0C ! ! 1

-0.3 -0.2 -0.1 0.0 0.1 0.2 0.3 -04 -0.2 0.0 0.2 0.4
heat flux vapor flux*1000

2.5F - 2.5F .
2.0F 3 2.0F 3
15F E £ 1s5f E

r N r h
1.0F . 1.0F ]
05 3 05F 3
0.0t . . ] o.0f .

295 300 305 310 315 320 0 20 25

25 @ —mm
- \[Jtang

Z(km)
[EnY
(03]
T
|

0.5

|

|

|

|

. 3 |

L ! ! 7 0.0C 1 1 L
0.06 0.08 0.10 0.12 -20 0 20 40
Q x 1000 Wind m/s

0.00 0.02 0.04



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-15 -1.0 -0.5 0.0 0.5 1.0 15

-0.2 -0.1 0.0 0.1 0.2
heat flux

25F :
2.0S— ‘
15F ]
Lof :
0.55— ‘
0.0E L \

295 300 305 310 315 320
theta

— Qs
—— 49

— qcC

0.2 0.3 0.4 0.5
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-1.0 -0.5 0.0 0.5 1.0

rot flux

15

wqv

-0.5 0.0 0.5

vapor flux*1000

25

|

|

|

|

|

. 1 .
-20 0 20

Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0f
2.5F

20F

Z(km)
[N
(6]
T

1.0F

0.5

0.0t

0.0
heat flux

0.2

3.0F

25F

1.5F

Z(km)

1.0F

0.5

0.0t

295 300

305 310
theta

315

320

0.2

0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2 0.0 0.2 0.4
vapor flux*1000

25

20 40
Wind m/s

-20



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0F

25F

1.5F

o
o1
T

315

320

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-2 0

wqv

-0.5 0.0

vapor flux*1000

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-10

— uw

—— total .
I E
I ]
I ]
0

-5

mflux

3.0f
2.5F

20F

1.0F

0.5

0.0E_

-1.5

I ' ' ]
——— withi ]
. ;
| ;
' ]
-0I.5 0.0 0 | |

-1.0

. 5 1.0 1.5
heat flux

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

315 320

0.2

0.6

0.4
Q x 1000

0.8 1.0

Z(km)

Z(km)

Z(km)

fluxra
fluxtang

-10

-5 0 5 10

3.0F
2.5F

20F

1.0F

0.5

0.0t

wqv

-0.2 0.0 0.2 0.4

vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

20 25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

-20

|

|

1

0 20
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

total

3.0F
2.5F

20F

o
o1
T

0.0
heat flux

0.1

0.2

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

315

320

0.2

0.4 0.6

Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

F ' I ' N
r l ]
- waqv 7
r I ]
N I ]
- I E
r | .
, , 1 , )
-0.4 -0.2 0.0 0.2 0.4
vapor flux*1000

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0f - ]
25F .
2.0F 3
€ 1sf .
N r ]
1.0F .
05F 3
0.0t .
0.4
3.0f - ]
2.5F ]
2.0F .
£ 1sf ]
N r ]
1.0F ]
05F 3
0.0t .

295 300 305 310 315 320
theta

0.0 0.2 0.4 0.6 0.8 1.0
Q x 1000

Z(km)

Z(km)

Z(km)

3.0f

2.5

1.5F

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0F

25

2.0

15

1.0F

0.5

0.0t

2.0F

- ——— wav :

-04 -0.2 0.0 0.2 0.4
vapor flux*1000

20 25

T I T ]
- — V| Rad E
- \_tang ]
3 l E
a I E
- | .
3 I E
- I E
- : .

1 I 1 1

-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0F

2.5F

2.0E

1.0F

0.5F

0.0k

-0.1 0.0 0.1 0.2

heat flux

3.0F

25F

1.5F

1.0F

0.5

0.0t

— thy

295

320

0.2

0.4 0.6 0.8 1.0
Q x 1000

1.2

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

-0.2

0.0

vapor flux*1000

0.2

0.4

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)
Z(km)

-0.06 -0.04 -0.02 0.00 0.02 0.04 0.0

Z(km)
Z(km)

Z(km)

-1.0 -0.5 0.0 0.5 1.0 15

rot flux

3.0
25F

20F

1.0F

0.5

0.0L

-0.2 0.0 0.2 0.4
vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

20 25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

, ; ;
/ Rad ]
_tang ]
l E
1 ]
! ;
| ]
| .
1 1

0 20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-1.0

1.0

3.0f
2.5F

20F

1.0F

0.5

0.0k

0.4

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

315

320

0.1

0.2 0.3
Q x 1000

0.4

0.5

Z(km)

Z(km)

Z(km)

-1.0 -0.5 0.0 0.5 1.0

3.0f

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0f

2.5F

2.0

15

1.0

0.5

0.0t

rot flux

- ———— wav =
: . '
: .
3 I
a I
C I

L L 1

-04 -0.2 0.0 0.2 0.4
vapor flux*1000

20 25

: , : :
= VDRad 3
V/ tang
3 l E
- ! ;
C | ]
3 I E
- | .
| 1 |

-20 0 20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

0.0 0.2
heat flux

0.4

3.0F

25F

1.5F

1.0F

0.0t

295

320

0.00

0.05

0.10 0.15 0.20

Q x 1000

0.25

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.5 0.0 0.5 1.0
vapor flux*1000

20

25

|

|

|

|

|

. 1 . .
-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

0.0 0.2

3.0F

25F

1.5F

Z(km)

1.0F

0.5

0.0t

295

305 310 315 320

0.2

0.4 0.6 0.8 1.0
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2

0.0

0.2 0.4
vapor flux*1000

20

25

)

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

15

0.5

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

320

0.2

0.4
Q x 1000

0.6

0.8

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

5 10 15
rot flux

wqv

-1.0 -0.5 0.0 0.5 1.0

vapor flux*1000

20 25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

uw

— — total —

10

0.0
heat flux

320

0.4

0.6 0.8 1.0 1.2
Q x 1000

Z(km)

Z(km)

Z(km)

-10 -5

3.0f

2.5

2.0

1.0f

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

1.5F

5 10
rot flux

E ——— wav E
f I ]
._ | 7
I
3 I E
F I E
- | ]
. . . ! . .

-0.2 0.0 0.2 0.6

vapor flux*1000

0.4

25

T T
1 R

20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



uw

2f —— total

10 20

Z(km)

-0.6 -04 -0.2 0.0
heat flux

0.2

04 06

25F

1.5F

Z(km)

1.0F

0.5

0.0t .

295 300 305 310

315 320

0.0 0.2 0.4
Q x 1000

0.6 0.8

Z(km)

Z(km)

Z(km)

fluxra d)
fluxta

-20

-10 0 10 20
rot flux

3.0F
25F

20F

1.0F

0.5

0.0t

-04 -02 00 02 04 06

vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

20 25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

L [——

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

total

10

0.0
heat flux

3.0F

25F

1.5F

1.0F

o
o1
T

315

320

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

2F =
1F =
ot .

5 10
rot flux

30: T T T T T T T ]
L | ]
25F ——— waQVv | E
L | ]
2.0:— : E
r I ]
1.5:— I _:
1.0F ' ]
L ! ]
05F ! 3
3 |
0.0 1 1 | 1 1

-0.6 -04 -0.2 0.0 0.2 0.4 0.6
vapor flux*1000

250 :
20F =
15F E
Lof :
050 =
0.0t . .

20 25

3.0f - - ]
25} ]
20 ]
15} ]
Lof- ]
o5} ]
0.0t . —

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



- I ]
2f —— tota) -

-10 -5 0 5 10

€ ]
= -
N ]
-1.0 -0.5 0.0 0.5 1.0
heat flux
3.0f - - ]
2.5F ]
2.0F .
£ 1sf ]
N r ]
1.0F ]
0.5F 3
0.0t . .

295 300 305 310 315 320

00 02 04 06 08 10 12 1.4
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

10

wqv

-0.2 0.0 0.2
vapor flux*1000

0.4

0.6

Wind m/s




g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

total

3.0F
2.5F

20F

1.0F

0.5

0.0t

-0.1 0.0
heat flux

0.1

0.2

3.0F

25F

o
o1
T

300 305 310
theta

315

320

0.2 0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

wqv

-0.2

0.0

vapor flux*1000

0.2

25

— \[tang

ad

-20

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

-0.05

0.00
heat flux

0.10

3.0F

25F

1.5F

Z(km)

1.0F

o
o1
T

' T
— thy

315

320

0.2 0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

[ T T I T ]
C 1 _:
- . ;
C 1 ]
3 | ]
r 1 ]
N | y
1 1 I 1
-04 -0.2 0.0 0.2 0.4
vapor flux*1000
- \Qv ]

25

O = =

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

0.5
0.0t

3.0F

Z(km)
-
o1
T

0.5
0.0t

I E
- ! ]
r | b
1 | L 1
-0.10 -0.05 0.00 0.05 0.10
heat flux

295

320

—qr

qg
qc

0.2

0.4
Q x 1000

0.6

0.8

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-04 -0.2

0.0

0.2

vapor flux*1000

25

Rad
tang

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

0.0 0.4

heat flux

0.2

250 :
20F =
150 ]
10F E
050 =
0.0t . .

295 320

0.3

0.2
Q x 1000

0.1 0.4 0.5

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

wqv

-0.5

0.0
vapor flux*1000

0.5 1.0

20

25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t
295

-1.0 -0.5 0.0 0.5 1.0
heat flux

300

305

320

0.2

0.4
Q x 1000

0.6

0.8

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2 0.0

vapor flux*1000

0.2

0.4

20

25

-20

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

10

0.0

heat flux

3.0F

25F

o
o1
T

320

1.0

Z(km)

Z(km)

Z(km)

rot flux

10

3.0
2.5F

20F

1.0F

0.5

0.0E_

-0.4 -0.2 0.0 0.2

vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

10

-15 -1.0 -0.5

0.0
heat flux

0.5

25F

1.5F

1.0F

0.5

0.0t .

295 300 305

320

0.2

0.3
Q x 1000

0.4

0.5

0.6

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

10

F ' I ' e
C | 1
3 Wav- 3
i | 1
- I -
F l E
C | ]
- [ E
5 | ]
. . 1 . .
-1.0 -0.5 0.0 0.5 1.0
vapor flux*1000

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

3.0F

Z(km)
[EnY
[6)]
T

0.5
0.0t

-0.2

0.0 0.2 0.4

heat flux

295

320

a9
qr
gc
qi

0.2

0.4 0.6 0.8

Q x 1000

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-2 0 2 4
rot flux

— T T | T T ]
| ]
I 1
| ]
| ]
] ]
| ]
1 ]
I i
1 1 I 1

-04 -0.2 0.0 0.2 0.4
vapor flux*1000

25

-20 20
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

295 300 305 310 315 320

0.0 0.2 0.4 0.6 0.8 1.0
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-10

rot flux

15

: T T T I T T T :
C | ]
- wqv v
3 | E
- ! E
C | ]
- | -
1 1 1 I 1 1 1
-06 -04 -02 0.0 0.2 0.4 0.6
vapor flux*1000
- ————— Qv ]

25

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



uw

total

-10

10

3.0f
2.5F

20F

Z(km)
[N
(6]
T

1.0F

0.5

0.0k

3.0F

25F

1.5F

Z(km)

1.0F

o
o1
T

315

320

0.2 0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

rot flux

10

30: T T T
20F

1.0F

0.5

0.0E. . .

25F ——— wqVv

-0.6 -0.4 -0.2

0.0

0.2

vapor flux*1000

25F

1.5F

1.0F

0.5

0.0t .

20

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



uw

2f — tota -

-15 -10 -5 0 5 10 15

€ ]
< »
N b
-1 0 1
heat flux
3.0: T T ]
2.5F ]
2.0F 3
£ 1sf ]
N r ]
1.0F ]
05F 3
0.0t . .

295 315 320

0.0 0.2 0.4 0.6 0.8 1.0
Q x 1000

Z(km)

Z(km)

Z(km)

fluxra

fluxtam ]
! E
! ]
|

-15

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-10 -5 0 5 10 15
rot flux

-0.2 0.0 0.2 0.4 0.6
vapor flux*1000

20 25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

—_— VW
— total

I 1
0 1 2
mflux

3.0f
2.5F

20F

1.0F

0.5

0.0t

wth
wthil

-0.2

0.0
heat flux

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

305

320

0.2

0.4

0.6

. 0.8
Q x 1000

1.0

1.2

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

0.0
vapor flux*1000

0.2

0.4

25

O = = = -

20
Wind m/s

-20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0

2.5

2.0

15

Z(km)

1.0

0.5F
0.0k

3.0

2.5

2.0

1.5

Z(km)

1.0

S==: —f

= I E

- ! ]

- I _.
| ]
1

-0.06 -0.04 -0.02 0.00 0.02 0.04 0.06
heat flux

305 310
theta

315

320

—— Qs
— 49
—qr
— qcC

0.0 0.1 0.2 0.3

Q x 1000

0.4

0.5

0.6

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2 0.0 0.2 0.4 0.6
vapor flux*1000

— :

" Rad 3
_tang ]
I E
! E
| ]
. E
I E
: ]
I 1 1
-20 0

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

300 305 310 315 320

Z(km)

Z(km)

Z(km)

3.0f

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0f

2.5F

2.0

15

1.0

0.5

0.0t

rot flux

- ——— wav

-1.0 -0.5 0.0 0.5 1.0
vapor flux*1000

20 25

; | ; ;
- \}_Rad ]
- \),_tang ]
3 l E
2 | E
C | ]
a2 ! E
L | ]
2 | E
- : ]
1 1 1 1
-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

total

3.0f
25F

2.0F

1.0F

0.5

0.0k

0.0
heat flux

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

320

gs
a9
qr
qc
qi

0.5
Q x 1000

1.0

15

Z(km)

Z(km)

Z(km)

3.0[ -
25F

20F

1.0F

0.5

r |
0.0-l 1 1 I 1 1

-0.6 -04 -0.2 0.0 0.2 0.4
vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0: T I T T

2.55— _ \}_Rad
F \),_tang
20

1.0F

0.5

0.0t .

O = = = = —— -

20 40
Wind m/s

-20



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

295

305 310 315 320

0.2

0.4 0.6 0.8 1.0
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

0

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

15

-0.5

0.0
heat flux

0.5

1.0

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

320

0.2

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

15

: T T T I T T T :
- W ]
3 ! E
C | ]
3 . ]
r 1 ]
1 1 1 I 1 1
-06 -04 -02 00 02 04 06
vapor flux*1000
- ————— Qv ]

10 15

20

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

1.0F

0.5

0.0t

-0.5 0.0 0.5
heat flux

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

320

0.2 0.4 0.6 0.8
Q x 1000

1.0

Z(km)

Z(km)

Z(km)

-15

-1.0

-0.5 0.0 0.5 1.0 1.5
rot flux

3.0f
2.5F

20F

1.0F

0.5

0.0L.

wqv

-0.5 0.0 0.5 1.0
vapor flux*1000

3.0F

25F

1.5F

1.0F

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

[ : .
ad 3
vtang 5
I E
I E
| ]
I E
| ]
I E
| .

-20

0 20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)
-
o1
T

0.0b.

3.0F

Z(km)
-
o1
T

0.0t

-0.10

-0.05 0.00 0.05 0.10

heat flux

0.15

thv

295

320

0.2

0.4 0.6 0.8
Q x 1000

1.0

Z(km)

Z(km)

Z(km)

-1.0

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0
2.5

2.0

15

1.0

0.5

0.0t

-0.5 0.0
rot flux

1.0

-0.1 0.0 0.1 0.2

vapor flux*1000

25

ad
ng

—<.

-20

O = = = = —— -

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

10

0.0b_. . .

Z(km)
[EnY
[6)]
T

0.5
0.0t .

-1.0 -0.5 0.0
heat flux

0.5

1.0

295 300 305 310

315

320

05/

0.00 0.02 0.04 0.06
Q x 1000

0.08

0.10

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

10

wqv

0.0

vapor flux*1000

25

-20

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-0.4 -0.2 0.0 0.2 0.4
heat flux

3.0F

25F

1.5F

1.0F

o
o1
T

320

2.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

I
wqv :
|
|
|
|
|
|
|
|
1

-0.2 0.0
vapor flux*1000

0.2

0.4

Wind m/s




g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-0.15

-0.10

-0.05 0.00
heat flux

0.05 0.10

0.15

3.0F

25F

1.5F

1.0F

o
o1
T

305

320

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0f

2.5

2.0F

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0f

2.0F

15

1.0

0.5

0.0t

rot flux

- ——— wav :

0.0
vapor flux*1000

-0.2 0.2 0.4

2.5F

20 25

N | ]
F I E
r I ]
- I E
C I ]
- I E
r | ]
, 1 , ,
-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

1.0

0.5

0.0t
-0.10

3.0

2.5

2.0

1.5

Z(km)

1.0

-0.05 0.00 0.05 0.10

heat flux

—w
| ]
I E

300 305 310 315 320

0.1 0.2 0.3

Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-04 -0.2 0.0 0.2 0.4
vapor flux*1000

25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

295 300 305 310 315 320
theta

0.0 0.1 0.2 0.3 0.4 0.5
Q x 1000

Z(km)

Z(km)

Z(km)

|
fluxra

3.0f
25F

20F

1.0F

0.5

0.0k

-0.2 0.0

0.2

vapor flux*1000

0.4

0.6

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



—_uw
— VW
— total
0 2

-4 -2
mflux

3.0f
25F

2.0F

Z(km)
[N
(6]
T

1.0F

0.5

0.0t

.

I T
|
|
wthi
|
|
|
-0.4 0.2 0.0 0.2 0.4

heat flux

3.0F

25F

1.5F

Z(km)

1.0F

0.5

0.0t

295

300 305 310 315

320

0.2 0.4 0.6 0.8 1.0 12

Q x 1000

1.4

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

fluxr
fluxta

: T T I T T :
3 W ;
3 ! ;
C | ]
3 I E
3 ! :
- [ E
C | ]
1 1 I 1 1
-04 -0.2 0.0 0.2 0.4
vapor flux*1000

20

25

_

-20

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

10

320

gc

0.4

0.6
Q x 1000

0.8

1.0

1.2

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

10

wqv

-1 0
vapor flux*1000

25

-20 20

Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-1.0 -0.5 0.0 0.5 1.0
heat flux

25F

1.5F

1.0F

o
o1
T

10 315 320

0.8 1.0

Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

10

-0.5

0.0

vapor flux*1000

25

-20 0

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0F

Z(km)
[N
(6]
T

0.0k
-0.

3.0F

Z(km)
[EnY
[6)]
T

0.0t

15

-0.10

-0.05

0.00
heat flux

0.05 0.10 0.15

thv

295

300

305

310
theta

320

— 49
—qr
—— qc

0.2

0.4

0.6
Q x 1000

0.8 1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

0.0
rot flux

0.2

0.4

0.6

3 I E
C 1 ]
3 | E
- ! E
C | ]
C 1 ]
- [ E
N | y
. 1 .
-0.1 0.0 0.1
vapor flux*1000

25

\}_Rad

— \),_tang

O = = = = —— -

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-0.1 0.0
heat flux

0.1

3.0F

25F

1.5F

1.0F

0.5

0.0t

thv

295

300

305 310
theta

320

0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

0.0

vapor flux*1000

0.2

25

-20

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

295

10

320

0.1 0.2
Q x 1000

0.3

0.4

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

10

wqv

0.0

vapor flux*1000

20

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3 T T 3 T T
|
- u I
2 —— tot = 2F
€ I ] T
< ] <
N ! ] N
1F - 1F
O 1 1 O 1 1
-10 -5 0 5 10 -10 -5 5
mflux rot flux
T T ] 30: T T I T T
] L |
] 25F ———— WQVv
L |
- 2 O:— :
= § 15F .
N N |
3 10F !
3 05F !
1 - !
1 1 3 0.0 L 1 1 I 1 1
-1.0 -0.5 0.0 0.5 1.0 -0.4 -0.2 0.0 0.2 0.4
heat flux vapor flux*1000
3.0 F T 3.0 F T T
2.5F = 2.5F
2.0F . 2.0F
15F = §, 15F
N N N
1.0F = 1.0f
05F - 05F
0.0t . 0.0t . .
295 300 305 310 315 320 0 5 20
theta
T T 3.0F T
2.5F
. 2.0F
£ 15t
N C
- 1.0 .
05F ]
1 1 OO 1 _—/
0.0 0.5 1.0 1.5 2.0 25 20 40

Q x 1000 Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



2F =
£} :
< I ]
N h
1k .
ot .

rot flux

3_0:- T I T ': 3.0: T T I j j b
25 ———— wthv E 25f ——— waqv E

20F 3 20F 3

Z(km)
[N
(6]
T
|
Z(km)
[N
(6]
T
|

: I ]
1.0F - ! 3

L N L ! N
05F 3 05F : 3
0.0t . . L 0.0t ., . I .

-1.0 -0.5 0.0 0.5 1.0 -04 -0.2 0.0 0.2 0.4
heat flux vapor flux*1000

Z(km)

25F . 25F ]
2.0F 3 2.0F .
15F E £ 1s5f E

r N r h
1.0F . 1.0F ]
05F 3 05F .
0.0t . . 0.0t . .

295 300 305 310 315 320 0 5 20 25

theta

T T T 30 F T T ]
2.5F .
3 2.0F .
£ 1sf .
N C ]
3 1.0F .
0.5F .
O 1 1 1 1 0.0 1 1

0.0 0.2 0.4 0.6 0.8 1.0 1.2 20 40

Q x 1000 Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

-0.3 0.2 0.3

320

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

0.0
rot flux

15

-0.2 0.0 0.2 0.4

vapor flux*1000

25

" Rad 3
tang ]
| N
I ]
| ]
I E
: ]
L 1 L L
-20 0

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0F
2.5F

20F

Z(km)
[N
(6]
T

o
U1
T

wthv -
wthil | ]
! E
. E
I E
| ]
I E
| .

A 0.0

0.1
heat flux

3.0F

25F

1.5F

Z(km)

1.0F

0.5

0.0t

295

305 310 320

theta

315

qg
qc

0.1

0.2 0.3
Q x 1000

0.4 0.5

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2 0.0 0.2
vapor flux*1000

20 25

. , . .
" Rad .
_tang ]
I E
I E
| ]
I E
| ]
I E
: ]

L 1 L L
-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

295

320

—qr

qg
qc

0.2

0.4
Q x 1000

0.6

0.8

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.5 0.0 0.5
vapor flux*1000

20 25

" Rad 3
_tang ]
I E
I E
| ]
I E
| ]
I E
: ]
L 1 L L
-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

uw

total

3.0f
2.5F

20F

1.0F

0.5

0.0t

-1.0 -0.

5 0.0
heat flux

0.5

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

320

“Qwn

00

0.

5
Q x 1000

1.0

15

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-4 -2 0 2
rot flux

Fo ' I ' ]
c | ]
- waqv 7
3 I E
F I E
C I 1
- | E
5 | ]
. . 1 . .
-0.4 -0.2 0.0 0.2 0.4
vapor flux*1000

20 25

-20 20

Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3: T T ]
 ——— uw ;
- w 5
2F  —— total .
 °F ]
< I ]
N N | .
1f ]
: ! ;
ot 1 1 L 7
0

-10 -5
mflux

30 :l T T |:
25f ——— wthy -
20F 3
r | ]
Lsp | E
1.0F : 3
L ! N
0.5F ! 3
- ! 1
0.0L ! 1 1]
0

Z(km)

heat flux

320

0.0 0.2 0.4 0.6 0.8 1.0 1.2
Q x 1000

Z(km)

Z(km)

Z(km)

-10

rot flux

10

3.0F
25F

20F

1.0F

0.5

0.0t

wqv

-0.5 0.0
vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

-20

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

3.0F

Z(km)
-
o1
T

0.5
0.0t

-15

15

-0.2

0.0
heat flux

0.2

04 06

295

315

320

0.05

0.10

0.15
Q x 1000

0.20

0.25

0.30

Z(km)

Z(km)

Z(km)

fluxr
fluxtaNg

-15

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

-10

rot flux

10 15

L I I I I I I I ]
L | N
3 Wav- 3
L | ]
3 | E
- ! E
L | N
F I E
¥ I 1
F [ E
5 | ]
) ) ) 1 ) ) )
06 -04 -02 00 02 04 06
vapor flux*1000

20

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

3.0F

Z(km)
-
o1
T

o
o1
T

15

315

320

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t
-1.0

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

rot flux

15

wqv

-0.5 0.0

vapor flux*1000

25

_— \),Ztang

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



2F =
€ b
< I ]
N r ]
1k .
ot .

-20 10 20

30:| T |:
25F .
20F .
€ 1sf .
N r ]
1.0F .
05F .
0.0t . .

3.0F

2.5F ]
2.0F 3
£ 15 :
N r ]
1.0F ]
0.5F .
0.0t .

295 315 320

0.0 0.2 0.4 0.6 0.8 1.0
Q x 1000

Z(km)

Z(km)

Z(km)

fluxra
fluxta

-20

-10 0 10 20
rot flux

3.0[
25F

20F

1.0F

0.5

0.0E.

-04 -0.2 0.0 0.2 0.4 0.6
vapor flux*1000

3.0F

25F

1.5F

1.0F

0.0t

20 25

1 _——/

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-10

10

3.0f
2.5F

20F

1.0F

0.5

0.0k

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

315

320

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

4
fluxyad
flu g

-10

-5 0
rot flux

10

3.0F
2.5F

20F

1.0F

0.5

0.0t

wqv

-0.2 0.0

vapor flux*1000

0.2

0.4

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0f

2.5F

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

: wthv E
- wthil ]
- I ]
- ! E
- | ]
C | ]
15 -10 -05 00 05 10 15
heat flux

295 300 305 310 315

320

0.4 0.6 0.8 1.0
Q x 1000

1.2

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0
2.5

2.0

15

1.0

0.5

0.0t

-0.2 0.0

vapor fIﬁx*lOOO

0.2

0.4

5 10 15 20

Q

25

-20

oy
}%‘3
' 0

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

3.0

2.5

2.0

1.5

1.0

-0.1 0.0 0.1
heat flux

0.2

315

320

0.10 0.15
Q x 1000

0.05

0.20

0.25

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.5 0.0 0.5
rot flux

1.0

- wqv ]
C 1 ]
3 | E
C I ]
- I E
C 1 ]
- [ E
N | y
. 1 .
-0.2 0.0 0.2
vapor flux*1000

25

|
|
|
|
. 1 .
0 20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20.0 1 1 1 1 | 1 1 1 1 | 1 1 I I | I I I I
-73.5 -73.0 -72.5 -72.0 -71.5




Z(km)

Z(km)

3.0f

0.5F

0.0

3.0F

0.0t
295

2.5F
2.0F

1.5F

1.0F

Z(km)

25
20f
15
1.0

0.5}

Z(km)

—qr

qg
qc

Z(km)

0.2
Q x 1000

3.0F

1.0f

0.5

0.0k

3.0F

1.0f

0.5

0.0t

3.0f

1.0F

0.5

0.0t

rot flux

2.5F
2.0F

1.5F

wqv

-0.5 0.0 0.5
vapor flux*1000

2.5}
2.0F

1.5}

2.5F
2.0F

1.5}

" Rad
|_tang

-20

O = = = — —— -

20 40
Wind m/s




g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

1.5F

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

2.0F

: T T I T T :
r 1 ]
C A | ]
] hil ]
- I E
- ! ]
r | b
C | ]
-0.4 -0.2 0.0 0.2 0.4
heat flux

295 300 305 310 315 320

— Qs
—— 49

— qcC

0.2 0.4 0.6 0.8
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2

0.0

vapor flux*1000

0.2 0.4

20

25

-20

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



heat flux

2.5F ]
2.0F .
£ 1sf ]
N N ]
1.0F ]
05F .
0.0t . .

295 300 305 310 315 320
theta

0.0 0.2 0.4 0.6 0.8

Z(km)

Z(km)

Z(km)

-20

rot flux

20

3.0F
25F

20F

1.0F

0.5

0.0t

wqv

0

vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

-20

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t
295

uw

total -

-10 -5 0 5 10 15

: wthv -
: whil ;
-2 0 2
heat flux

305 310 315 320

0.

5 1.0 1.5
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

fluxra
fluxtang

- waqv .
1 1 I 1
-04 -0.2 0.0 0.2 0.4
vapor flux*1000

20 25

-20

20
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

-1.0 -0.5 0.0 0.5 1.0

3.0

2.5

2.0

1.5

1.0

heat flux

295 300 305 310 315 320

gs
qg

+——qc
4 q|

0.0 0.5 1.0 15 2.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

wqv

-04 -0.2 0.0 0.2 0.4
vapor flux*1000

20 25

\}_Rad
\/_tang

O = = = = —— -

20 40
Wind m/s

-20



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-15

10 15

3.0F
2.5F

20F

1.0F

0.5

0.0k

-15

-1.0 -0.5

0.0
heat flux

0.5

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

315 320

0.5

Q x 1000

1.0

15

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

fluxra
fluxtang

5 10 15

-0.4 -0.2 0.0

0.2 0.4

vapor flux*1000

20 25

-20

Wind m/s

20 40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3 2F =
£ E I 3
3 = | :
N N N 1
3 1F .

ot .

T 30: T T T ]
3 25F wqv 3
3 2.0F ]
§ . § 1.5F .
N N N 1
3 1.0F ]
N 1 ]
3 0.5F : 3
- 1 - !
0.0 L 1 1 1 1 N 0.0 L 1 1 1 I 1 1 1
-1.0 -0.5 0.0 0.5 1.0 -06 -04 -02 00 0.2 0.4 0.6
heat flux vapor flux*1000
3.0 F T 3.0 F T T ]
25F . 25F ]
2.0F . 2.0F .
£ 1s5f E £ 1s5f E
N N N N ]
1.0F . 1.0F ]
05F b 05F .
0.0t . 0.0t . .

295 300 305 310 315 320 0 5 20 25

3.0f - T -
2.55— _ \}_Rad

Z(km)
[EnY
(03]
T

0.5

20 40

0.0 0.2 0.4 0.6 0.8 1.0 -20
Q x 1000 Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

3.0F

Z(km)
[EnY
[6)]
T

0.0t

-0.2 -0.1 0.0 0.1 0.2
heat flux

295

300 305 310 315
theta

320

— 09
—qr
—— qc

0.5 1.0
Q x 1000

15

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-1 0 1
rot flux

-0.2 0.0 0.2 0.4
vapor flux*1000

20

25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

0.1

25F

1.5F

1.0F

0.5

0.0t .

295

320

0.6

0.4
Q x 1000

0.2 0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-2 -1 0 1 2 3
rot flux

0.0
vapor flux*1000

20 25

T T T T J
Rad 3
\)I tang ]
I E
I E
| ]
I E
| ]
I E
: .
L 1 L L
-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

0.0

3.0

2.5

2.0

1.5

Z(km)

1.0

0.5

0.0t

-0.10 -0.05 0.00 0.05 0.10
heat flux

295 300 305 310

0.00 0.05 0.10

315

320

0.15
Q x 1000

0.20

0.25

Z(km)

Z(km)

Z(km)

-1.0 -0.5

0.0
rot flux

0.5

1.0

15

3.0F
25F

20F

1.0F

0.5

0.0t

wqv

-0.2

0.0

vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20.0 1 1 1 1 | 1 1 1 1 | 1 1 I I | I I I I
-73.5 -73.0 -72.5 -72.0 -71.5




uw

2f —— total

3.0 -
25F

2.0F

Z(km)
-
o1
T

1.0F

0.5

0.0t .

-0.4 -0.2 0.0 0.2
heat flux

0.4

320

0.0 0.1 0.2 0.3
Q x 1000

0.4

Z(km)

Z(km)

Z(km)

3.0f

1.5F

1.0

0.5

0.0t

3.0F

0.0t

3.0f

2.0F

15

1.0

0.5

0.0t

2.5}

2.0F

-0.3 -0.2 -0.1 0.0 0.1 0.2 0.3
vapor flux*1000

25
20f
15
1.0

0.5}

2.5F

- I E
[ | ]
- I ]
L | N
- I E
- | .
L 1 L
20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0f

-0.1

0.0
heat flux

0.1

3.0F

25F

1.5F

1.0F

0.5

0.0t

295

320

0.1

0.2
Q x 1000

0.3

0.4

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2 0.0
vapor flux*1000

25

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



€ ]
= -
N ]
0.4 0.2 0.0 0.2 0.4
heat flux
3.0f - - ]
2.5F ]
2.0F .
£ 1sf ]
N r ]
1.0F ]
0.5F 3
0.0t . .

295 300 305 310 315 320

0.0 0.1 0.2 0.3 0.4 0.5
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

rot flux

-04 -0.2 0.0 0.2 0.4
vapor flux*1000

25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

295 300 305 310 315 320

0.0 0.1 0.2 0.3 0.4 0.5
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-2 0

rot flux

-0.2 0.0

0.2

vapor flux*1000

0.4

0.6

20

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

-0.5 0.0 0.5
heat flux

3.0F

2.5F ]
2.0F 3
£ 1sf ]
N r ]
1.0F ]
0.5F 3
0.0t .

295 300 305 310 315 320
theta

0.0 0.1 0.2 0.3 0.4 0.5
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

quxra(%i
fluxtang

rot flux

F ' I ' N
r | 1
3 Wave ;
C I 1
3 | E
- ! E
r | 1
F l E
¥ I 1
- [ E
5 | ]
. . 1 . .
-0.4 -0.2 0.0 0.2 0.4
vapor flux*1000

20

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

0.0
heat flux

0.1

3.0F

25F

o
o1
T

320

0.2

0.4
Q x 1000

0.6

0.8

Z(km)

Z(km)

Z(km)

3.0f

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

rot flux

T T I T l_
- ———— waov 1
f_ . _f
N | ]
3 I E
- I -
C | ]

, , 1 ,

0.0 0.4

vapor flux*1000

0.2

20 25

20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0f
2.5F

20F

Z(km)
[N
(6]
T

1.0F

0.5

0.0t

-0.2

0.0
heat flux

0.2

3.0F

25F

1.5F

Z(km)

1.0F

0.5

0.0t

295

315

320

0.2

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

0
rot flux

3 Wav- 3
L | ]
3 | E
- ! E
L 1 N
¥ I 1
F [ E
5 | ]
) ) 1 ) )
-0.4 -0.2 0.0 0.2 0.4
vapor flux*1000

20

25

Wind m/s

20 40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

1.5

1.0

-0.2 -0.1 0.0 0.1 0.2
heat flux

315

320

0.4 0.6
Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k
-1.0

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

wqv

-0.5

0.0 0.5

vapor flux*1000

20 25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

1.0

0.00
heat flux

0.05

3.0F

25F

1.5F

1.0F

o
o1
T

315 320

0.00

0.05

0.10 0.15
Q x 1000

0.20 0.25

Z(km)

Z(km)

Z(km)

-0.5 0.0 0.5 1.0
rot flux

3.0F
2.5F

20F

1.0F

0.5

0.0t

-0.2 0.0 0.2
vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

5 10 15 20 25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0f

Z(km)
-
o1
T

3.0F

Z(km)
-
o1
T

0.5
0.0t

15

0.00
heat flux

295

315

320

0.00

0.02

0.04

0.06
Q x 1000

0.08

0.10

0.12

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0
2.5

2.0

15

1.0

0.5

0.0t

-1.0 -0.5 0.0 0.5 1.0 1.5
rot flux

waqV E

-0.2 0.0 0.2
vapor flux*1000

20 25

. , . . .

— W(Rad E

—— \Dang ;
I E
! E
| N
I E
| ]
I E
: .

L 1 L
-20 0 20 40

Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)
[N
(6]
T

0.5

0.0b.__.

Z(km)
[EnY
[6)]
T

o
o1
R

0.0 0.2 0.4
heat flux

305 310 315 320

O:

— 49
—qr
— qcC

0.000 0.002

0.004

0.006 0.008 0.010 0.012
Q x 1000

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

wqv

-0.4 -0.2 0.0

vapor flux*1000

25

Wind m/s

20 40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

-0.10 -0.05 0.00 0.05

heat flux

25F

1.5F

1.0F

0.5

0.0t .

295 305 310

theta

315

320

0.02 0.03
Q x 1000

0.00 0.01

0.04

0.05

Z(km)

Z(km)

Z(km)

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.1 0.0 0.1
vapor flux*1000

25

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

3.0F

Z(km)
[EnY
[6)]
T

0.5
0.0t

0.0 0.1 0.2
heat flux

295

300 305 310 315 320

—qr

qg
qc

0.05

0.10 0.15 0.20
Q x 1000

Z(km)

Z(km)

Z(km)

rot flux

3.0f
2.5F

20F

1.0F

0.5

0.0k,

wqv

-0.2 0.0

vapor flux*1000

3.0F

25F

1.5F

1.0F

0.5

0.0t

20

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0f
2.5F

20F

Z(km)
[N
(6]
T

1.0F

0.5

0.0t

-0.5 0.0 0.5
heat flux

3.0F

25F

1.5F

Z(km)

1.0F

o
o1
T

320

0.00

0.05 0.10 0.15
Q x 1000

0.20

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

wqv

0.0

vapor flux*1000

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

3.0F

Z(km)
[EnY
[6)]
T

o
o1
T

-0.2 0.0 0.2
heat flux

300 305 310 315

320

0.00

0.05 0.10 0.15
Q x 1000

0.20

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-06 -04 -02 0.0

0.2

vapor flux*1000

04 0.6

25

Wind m/s

20

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



3.0

2.5

2.0

15

Z(km)

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

Z(km)

1.0

0.5

0.0t
295

0.0
heat flux

0.2

0.4

320

0.1 0.2 0.3 0.4 0.5
Q x 1000

0.6

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.2 0.0 0.2
vapor flux*1000

0.4

25

" Rad
|_tang

O = = = = —— -

20 40
Wind m/s

-20



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5 T

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



-15

-1.0

1.0

15

3.0F
2.5F

20F

Z(km)
[N
(6]
T

1.0F

0.5

0.0k

-0.1

0.0

heat flux

3.0F

25F

1.5F

Z(km)

1.0F

o
o1
T

305

310
theta

315

320

—qr

qg
qc

0.4

0.6

Q x 1000

0.8

1.0

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0
2.5

2.0

15

1.0

0.5

0.0t

15

-0.1 0.0

0.1

vapor flux*1000

0.3

25

Rad

Wind m/s

20 40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

1.0

3.0f
25}
20f
15

1.0F

0.5F

0.0k

-0.15 -0.10

-0.05 0.00 0.05 0.10

heat flux

0.15

25F

1.5F

1.0F

o
o1
T

320

0.4

. 0.6
Q x 1000

0.8

Z(km)

Z(km)

Z(km)

3.0

2.5

2.0

15

1.0

0.5

0.0k

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0

25

2.0

15

1.0

0.5

0.0t

-0.5 0.0

rot flux

0.5

1.0

-0.1 0.0 0.1
vapor flux*1000

20

25

20 40
Wind m/s



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)

Z(km)

3.0

2.5

2.0

1.5

1.0

1.0

0.00
heat flux

320

0.05

0.10
Q x 1000

0.15

0.20

Z(km)

Z(km)

Z(km)

0.0
rot flux

1.0

3.0f
2.5F

20F

1.0F

0.5

0.0L.

wqv

-0.1

0.0
vapor flux*1000

0.1

0.2

3.0F

25F

1.5F

1.0F

0.5

0.0t

25

3.0F
2.5F

2.0F

1.0F

0.5

0.0t

Rad
tang

20
Wind m/s

40



g, U N N N N S — ——— gy 1

6.0 -5.0 -4.0 -3.0 2.0 -1.0 0.0 1.0 2.0 3.0 4.0 50 6.0

21.5

21.0—

20.5—

20-0 1 1 1 1 | 1 1 1 1 | 1 1 | | | | | | |

-73.5 -73.0 -72.5 -72.0 -71.5



Z(km)
[N
(6]
T

Z(km)
[EnY
[6)]
T

0.5

N

-0.05

0.00 0.05

heat flux

295 300

305

310
theta

315 320

—qr

qg
qc

0.00

0.05

0.10 0.15

Q x 1000

Z(km)

Z(km)

Z(km)

-0.6

3.0

2.5

2.0

15

1.0

0.5

0.0t

3.0

2.5

2.0

1.5

1.0

0.5

0.0t

3.0
2.5

2.0

15

1.0

0.5

0.0t

-0.4

-0.2 0.0 0.2 0.4
rot flux

0.6

0.0
vapor flux*1000

20 25

| . .

v \Rad 3

\), ang ]
| 4
| ]
I E
: ]
1 L L
0

20 40
Wind m/s



